Logarithme en base a

m Propri t s
m VxeRj:y=log,x <= x=a’

Vxe R:log,(a*)=x
VxeRY:a%> =x
m Propri t s
Vx,yeRy

m Jog, 1=0
log, 1=1og,a’ =0

m log,a=1
log,a=log,a' =1

m log, (x.y) =log,x +log, y

on pose u = log, x et v=1log, y

onaalorsx=a" et y=a"
log (x.y) =log (a".a") =log, a"*’ =u+v=log, x +log, y

u loga(yl—c) =—log, x

on pose u = log, x

on a alors x = a"
log, ) =1log,( 77) = log, 4™ = —u=—log,

. 1oga(’y—c) = log, x — log, y
log,( ) = log %) =log, x +log, i =log, x—log, y

m log,x" =n.log, x

on pose u = log, x

on a alors x = a*

log, x" =log (a")" =log,a" " =n.u =n.log,x



2 | proploga.nb

log, x

m log, x= fog, @

on pose u = log, x

on a alors x = a*

log, x =log, a" = u .log, a =log, x .log, a
log, x =log, x .log, a
log, x

log, x = log, a



